
SAP ABAP table TXI_TRST_CLASPOS {Treasury: Class position in Securities Account}

TXI_TRST_CLASPOS

COMPANY_CODE [CHAR (4)]

SECURITY_ACCOUNT [CHAR (10)]

SECURITY_ID [CHAR (13)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 TXI_TRST_CLASPOS-COMPANY_CODE = T001-BUKRS 0..N

0..N

TWD01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RLDEPO [CHAR (10)]

 TXI_TRST_CLASPOS-SECURITY_ACCOUNT = TWD01-RLDEPO 
0..N0..N

VWPANLA

MANDT [CLNT (3)]

RANL [CHAR (13)]

 TXI_TRST_CLASPOS-SECURITY_ID = VWPANLA-RANL 

0..N

0..N


